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Notes: Figures to the right indicate marks.

Q.1

(5)

SHIVAM Construction Co. undertook the construction of a building at a (20}
contract price of Rs. 240000. The date of commencement of contract

was 1st April 16. The following cost information is given for the year

ended 31st March 2017.

(Rs.)
Materials {Direct) 76950
Materials {From stores) 15750
Wages 40850
Direct Expenses 13050
Establishmeni charges 4500
Plant 48300
Sub contract cost 4500
Sale of Scrap 3000

Other information:
Accruals on 31 March 2017 were wages Rs 4050 and Direct Exp
Rs. 3150.
The cost of uncertified work: Material Rs. 4800, Wages Rs. 2400,
Direct expenses Rs. 1500.
Plant of Rs. 7500 and Materials of Rs. 3000 were destroyed by Fire.
Plant costing Rs. 10500 was sold for Rs. 9000 and Material Costing
Rs. 4500 were sold for Rs. 6000,
Depreciation on plant Rs. 3300.
Materials at size were Rs. 7500,
Cash received from the contractee was Rs. 144000 being 80% of
work certified.
Transfer 3/4th Profit on cash basis for P&L A/c.

Prepare Contract Alc

OR
Explain the Advantages and Limitations of Cost Accounting. {(10)
Difference between Financial Accounting and Cost Accounting. {10)
From the following Information Calculate: (20)
Re order Stock Level (2) Minimum Stock Level
Maximum Stock Level (4) Average Stock Level

Danger Stock Level

(1) Maximum delivery period 45 days

{2) Average delivery period 35 days

{3) Minimum delivery period 25 days

(4) Maximum delivery period foe emergency purchase - 5 days
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Q.2
(1)
(2)
Q.3

Q.3

(5) Maximum rate of consumption per day 30 units.
(6) Average rate of consumption per day 25 units.
(7) Minimum rate of consumption per day 20 units.
(8) Ordering quantity 600 units.
OR
Difference between: (20)
Halsey Plan and Rowan Plan
Time Wages and Piece Wages

A Firm Manufactured and Sold 1000 calculators in the year 2006. Iis (20)

summarised Trading and Profit & Loss Alc for the year 2007 is set
out below:

(Rs.) (Rs.)
To Cost of Material 1680000 | By Saies 800000
To Direct wages 240000
Manufacturing charges 100000
Gross Profit 360000

80000G 800000
Mgnt. & Staff Salaries 120000 | By Gross Frofit 300000
Rent tax 20000
Generai Exp. 40000
Selling Exp. 60000
Net Profit 60000

300000 300000

For the vear 2007 it is estimated that:
The output and Sales will be of 1200 calculators.
Price of Material will rise by 20%.
Wage rates will rise by 5%.
Manufacturing charges will increase in proportion to the combined
cost of Materials and wages.
Selling Exp. per unit will remain unchanged.
Other expenses will rerain unaffected by the rise in output.
Prepare a statement showing the price at which calculators to be
manufactured in 2007 should be marketed so as fo show a profit of
10% percent on selling price.

OR

From the following information find out cost per kilometre of one (20)
vehicle:
Annual kilometre 30000
Cost of Vehicles 5006000
Annual Expenses:
Licence Fees | 16000
Insurance 14000
Garage rent 12000
Supervisor's salary 24000
Salary of a drive per hour 5

~ Price of petrol per litre 50
Repairs per kilometre 2
Tyre expenses per kilometre 1.50
Kilometre per litre 20
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Q.4

Q.5
(A)
(B)

Life of vehicle is 200000 kilometres.
Speed of vehicles per hour is 20 kilometres.

In a factory 5000 units are introduced into a process at a cost of
Rs. 100000. The total additional expenditure incurred by the process
is Rs. 165000. From the past experience it is calculated that of the
units introduced 20% an normally spoilt in the course of
manufacture. These possess a scrap value of Rs. 5 per unit. Prepare
Process A/c, Abnormal wastage A/c and Abnormal Gain Alc. If the
output is as follows:
(a) 4000 units produced
(b) 3500 units produced
(c) 4200 units produced
Assume that abnormal wastage possess the same scrap value as
the normal wastage.

OR
Write short notes :
Machine Hour Rate System.
Give reasons for the disagreement between the profit by Cost
Accounts and Financial Accounts.

The following have been incurred in respect of a shop having four
identical machines.

Rent and rates Rs. 6000 p.a.

Power consumed by shop @ 10 paise per unit Rs. 4800 p.a.

Repairs and Maintenance of machine Rs. 960 p.a.

Lighting for shop Rs. 800 p.a.

Attendants two each setting Rs. 60 p.m.

Supervisor's salary Rs. 600 p.m.

Lubricants Rs. 100 p.a.

Depreciation per machine Rs. 600 p.a.

Hire purchase Instalments Rs. 1200 (for the machines including 300
for interest.)

Each machine consumes 10 units of power per hour. Calculate
Machine Hour Rate.

OR
Write Short notes:
Certified Work and Uncertified Work.
Normal Loss and Abnormal Loss.

(20)

(20)

(20)

(20)
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